EXOS SUP
LAPLACE



TPTa\:\qw %,b’uc) ML) = s5e®+el)

"\_“_5 e (.= »lo) =0

4).. Foudimm . Ao GasafoX : R(E)

2). . Plparre. SrmplUncnnalla

2) " edice\a

433 () = 202 )., Sos A= 2
4. PS@.— 5() = 5pE(F) +E(P)

(P-). 57) = (sP+)-ElP) Ay?
el
Blp)- Sl = Sev i WH‘"

}
c - _
o e L )




) S el
) )= (O Mers E(p) = 4 X S(p).= W(P)-Elp)
S() = 5PF
B = Lpw ?,\'/9 (A= 2B o v \"""m""mu'
/ P—\

~|5¢-3) |5 -
— @ deme S(P=54 °
F—-\

2 ‘ 4.11’0"\-»4' | PO Fu.\c-a—nﬂ(lp .

D)5 elv) -
A Rws  glpyz A eX S (= WR-E(p) o 2P -a b
-—+,
F

P
(J ] [ f"slf\ - Sps\ ( D
Vare- 5( =z =1 } P- P=2 °- [(P‘> S(Pl [} €
P) P + P-i P DN (% W -4_+69 e/ : Sel
T, h AL?M ln% '.2



Q elL) = 363“’(2\¢) o&.ol$ CU’)-— 2 f ___?_f__

Pﬁ Py
S(p)= k(P -Elp) = pEp+) o & b£+c4
(l’-\) (P55 ) = Py
a = [(P_‘).$(P)'3 _ [ 3r[sr+i} | e g
pP=» 'F""“ - 5 =
- [0 500 - [*f_,_‘s”*”] _ Sl
F-—z‘) ?..\ f:“j &:)_A
szx—cz -co +6) _ -Co +6) > b:%
2" ? 5 e
5(,?)—-4“__4_*2_’4?,_ 4_2; AR
7=\ S Py 2. Pry




